OFFICE OF THE EXECUTIVE ENGINEER JAL SHAKTI (PHE) DIVISION QAZIGUND

Allotment Order No:PHQ/CC/ of 2022-23 dated D /09//2022 No PHO13948-51 DATE: /09/2022 NAME: AAMIR MUSHTAQ SHAH S/o Mushtaq Ahmad Shah R/o Malikpora Verinag email:aamir.vng@gmail.com Cell No. 7006808169 REGD. NO: PWDJNK-CONT-2022-280187 ACCOUNT NO:0232040100012808 Jk Bank Verinag GSTN: 01DUNPS2313N2ZE PAN: DUNPS2313N Name of Schemes:-Laying and fitting of pipes incl. P/F of pipe fittings , const. of spring protection supporting pillers and stabilization of old pipe network system WSS Ringmandoo Adminstrative Approval No.(9th ACM) 207-DB of 2022 Dated 27-08-2022 Technical Sanction NO. 59-DB of 2022 Dated 9/3/2022 Rupees :- Eight lacs eighty six thousands seven Alloted Cost; Rs:- 886761/= Hundred and sixty one only Compleation Time 90 Days References:1. Your tender received in response to e-NIT.No.21 of 8/2022 OF 2022-23 Dated:23-08-2022 (Fresh)

ISSUED UNDER NO:No: PHQ/2961-75 Dated 23/08/2022

For & on behalf of Lt. Governor of J&K , contract for above noted work is here by fixed with you on your quoted percentage rates, terms & conditions and are reproduced hereunder:-

SI, No.	Description of Work / Item(s)	Qty	Unit	Rate	Amount
1	Dismantling G I pipes (external work) including excavation and refilling trenches after taking out the pipes, manually/by mechanical means including stacking of pipes within 50 meters lead as per direction of Engineer-in-charge.				
1.01	15 mm to 40 mm nominal bore.	550.000	Mtr	99.750	54862.50
1 02	Above 40 mm nominal bore	150.000-	Mtr	110.650	16597.50
2	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed.				0.00
2.02	All kinds of soil	616.880 -	Cum	436.000	268959.68
2.03	Ordinary Rock	152.070	Cum	841.600	127982 11
3	Laying and fitting of G.I. pipes (all classes) complete excluding cost of pipes and Earth work but incl. cost of pipe fittings			547.000	0.00
3.01	50 mm dia Gl Pipe	1650.000 -	Mtr	40.800	67320.00
3.02	40 mm dia GI Pipe /	1575.000	Mtr -	40.800	64260.00
3.03	25 mm dia GI Pipe -	1050.000	Mtr-	30.650	32182.50
3.04	20 mm dia GI Pipe /	1200.000	Mtr	20.250	24300.00
3.05	15 mm dia GI Pipe	500.000	Mtr	20.250	10125.00
	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.	676.800	Cum	198.700	134480.16
	Instillation House Hold connections to unconnected house hold including providind & fixing of necesery ppe specials, earth work at connection and whatever necesery.	43.000	No	1500.000	64500 00
6 1	Rethreading of damaged ends of pipes'				(V



					1
6.01	15 mm to 40 mm nominal bore	25.000	_ N6	625.000	625.00
6.02	Above 40 mm nominal bore	100.000	No	100.000	10000.00
7	Providing and laying of stone boulders tightly	13.730	Cum	616.400	8463.17
8	Providing and laying cement concrete in retaining walls return walls, walls (any thickness) including attached pilasters, columns piers, abutments pillars posts struts, buttresses, string or lacing courses parapets, coping, bed blocks, anchors blocks, piain window sills fillets etc upto floor V level, including curing but excluding the cost of centring, shuttering and finishing with 1.2.4 (1 cement, 2 coarse sand, 4 graded stone aggregate 20 mm nominal size)		Cum	7542,400	24588 22
9	Centering and shuttering including strutting, propping etc. and removal of form work for				0.00
9.01	Retaining walls, return walls, walls (any thickness) including attached pilasters buttresses, plinth and string course fillets, kerbs and steps etc	36 000	Sqm	573.850	20658.60
9.02	Foundations, footings, bases of columns etc. for mass concrete	10.800	Sqm	262,300	2832.84
10	12mm Cement plaster of mix(1 : 6 (1 cement 6 coarse sand)	29.100	Sqm	241.750	7034.93
11	Providing and supplying of polyethene sheets over boulders behind walls including fixing using wooden Nails and laying of grassed soil over the same complete Job.	1 000	Job	25000 000	25000.00
12	Pumping out water caused by springs, tidal or river seepage, broken water mains or drains and the like	40.000	KL	155.550	6222.00
13	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with: 1:4:8 (1 cement: 4 coarse sand: 8 graded stone aggregate 40 mm nominal size)	8.000	Cum	4419.850	35358.80
14	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level 1:1½.3 (1 cement: 1½ coarse sand: 3 graded stone aggregate 20 mm nominal size)	1.600	Cum	7091.600	11346.56
15	Reinforced cement concrete work in walls (any thickness) including attached pilasters.	3.000	Cum	8552.850	25658.55
16	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in	280.000	KG	79.250	22190.00
17	Providing fixing of pipe specials like sluice Value/Gate Value				0.00
.01	50/40 mm Gate Value	4.000	Fach	3000.000	12000.00
	Carriage of material from sourse to dumping site at road by mechanical transport.				0.00
	Pipes G I 50 to 15 mm dia Km average	14.240	MT-	387.790	5522.13
30000	Cement & Steel for average lead 40 km /	3.115	MT	357.639	1114.05

CH 120

7:0

18.03		7875 June 1	4.293	Cum	601.013	2580.1
	Sand average lead	70 km	7 126	Cum	0.000	0.0
8.04	20 mm aggregate average lead	55		Cum	0.000	0.0
18.05	40 mm aggregate average lead	56	0.730	The state of the s	242.673	1587.3
8.06	Stone soling average lead	15 km	6.541 -	Cum	248:073.4	0.0
20	Extra carriage of pipe from neares site to actual site of work by manu	t dumping at labour for				4
20.01	Avg lead 500 Mtr. 50.40.25.20 and 15 mm dia GI Pip	0	14 240 /	MT	366.695	5065.1
0.01	G.TOTAL.					1093416.8
	Quoted Percentage rat	0		18.90%	Below	886761.0
	Alloted Cost			a second of a	- Sant	969791.0
	Eight lacs eighty si.	x thousands s	even Hundred	and sixt	y one only	
	Head Draftsman	Conditions	Tech. Officer	4	Ex. Engineer Gaziai	
1	The cost of work is restricted to Rs 88676		and the state of t	nds seven	Hundred and si	sty one phy
2	Earnest money deposited by you vide Verinag is being retained as security condition of the Contract	CDR No.33718 deposit and shi	149 Dated;-19- all be released	09-2022 after as p	of Rs 24312/= er the general :	terms and
4	evaluating of the performance of the C Agency must execute the works as per relevant/applicable IS code/s	ontract during t	he Contract Pe	riod ns detaile		
4.	evaluating of the performance of the C Agency must execute the works as pe	r the requirement	he Contract Pe ints/specificatio progress, Geo	nod ns detaile tagged ph	d in the	ugh the
5	Agency must execute the works as per relevant/applicable IS code/s The rates are including the charges for professional person before, during and	r the requirement submission of a fafter construct	nts/specification progress, Geo	riod ins detaile tagged ph ss reports	od in the notographs thro i in both hard a	ugh the
5 6 7 7 6	Agency must execute the works as perelevant/applicable IS code/s The rates are including the charges for professional person before, during and copies The date of start of work shall be recked Allotment whichever is earlier. No price escalation will be paid for composition due to any reasons whatsoe	r the requirement submission of a after construct ned within one pletion of the wayer.	nts/specification progress, Geo tion and progre week form the ork within the s	ns detaile tagged ph ss reports date of is	otographs thro in both hard a sue of LOI / Co	ough the and soft ontract ed date of
4 5 7 7 8	Agency must execute the works as per relevant/applicable IS code/s The rates are including the charges for professional person before, during and copies The date of start of work shall be reckon Allotment whichever is earlier.	r the requirement submission of a fafter construct ned within one pletion of the wayer.	nts/specification progress, Geo alion and progre week form the bork within the section of the Er	ns detaile tagged ph ss reports date of is stipulated	od in the notographs thro in both hard a sue of LOI / Co time or extende	ough the and soft ontract
4 5 7 M 8 M 8 M 8 M M 8 M M M M M M M M M M	Agency must execute the works as perelevant/applicable IS code/s The rates are including the charges for professional person before, during and copies The date of start of work shall be reckon Allotment whichever is earlier. No price escalation will be paid for component of the component of t	ontract during to the requirement submission of a fafter construct med within one pletion of the wayer. If any per the direct of the paid beyond the second concerned English per the second concerned English per the second concerned English per the second the seco	nts/specification progress, Geo alion and progress week form the work within the section of the Ernd the overall acontract value int bills and shapineer in charge	tagged phase reports date of is stipulated to The secutif be release	od in the social policy of the second of the	ontract ed date of ame has to to be pletion of

	Adequate precautions be taken for the environment and social protection and all safety practices in vogue be strictly adhered to during the execution of work
1	2 No mobilization advance shall be paid.
1	The Agency shall be responsible for the time and proper setting out of all the works and for the correctness of the positions, levels, dimensions and alignment of all parts of the works and for the provision of all necessary instruments, appliances and labour in connection therewith.
	4 The Agency shall make his own arrangements for the engagement of all types of the labour, required for the execution of the job. No workman below the age of 18 years shall be employed on the works. Also the bidder shall comply with the provisions of all labour laws and the rules framed there under
	The Agency shall at his own cost make arrangements for proper storage, especially towards Rain and Snow damages of the equipment/ materials at sites till its erection/completion. For the purpose, the bidder shall, with the approval of the Engineer in charge construct temporary storage accommodation for equipment/ material at site for which land shall be provided by the department near the site of work.
1	The Agency shall in connection with the work provide and maintain at his own cost all lights, guards, fencing and watching, when and where necessary or required by the Department for the protection of the work or safety and convenience of the Public etc
.1	7 The Agency shall in advance communicate with inchage store keeper of Divisional Store for lifting of pipe material etc and shall make adquate measures like availability of transport and labour for easy transportation from store to site against proper receipt / Challan, if required.
1	As soon as letter of award is communicated to the firm, the contract shall be complete and binding upon them, the Agency/firm shall also be required to execute an agreement with the competent authority within seven days from the date of issue of letter of award. Failure to execute such an agreement in time shall not however, prevent this contract from being enforced against the firm and the date of delivery of the material/completion of works shall be reckoned from the date of issue of the letter of award.
11	All other terms and conditions as laid down in the detailed NIT/SBD/ PWD Form No.25 double /GFR 2017/Manual for procurement of Works 2019 shall remain in force and binding upon the Agency
20	Any rules/terms and conditions, if not stipulated in the bidding document, shall be strictly dealt in accordance with the relevant rules/guidelines stipulated in the General Finance Rules (GFR 2017) and Manual for procurement of Works 2019 Government of India.
Copy to t	he:-
1	Chairman District Jal Jevan Mission (DDC) Anantnag / Kulgam for information.
2	Superintending Engineer Hydraulic Circle Anantnag for information.
3	Assistant Executive Engineer Jal Shakti (PHE) Sub-Division Dooru for information & necessary action. He will ensure the execution of works under stage contract after submission of damages reports duly recorded check certificate & proper geo tagged photographs before, during & after execution.
	File concerned.

Head Draftsman

Tech. Officer

Ex. Engineer PHE Div. Qazlgund

